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Q1) Answer any two parts of the following. [2×5=10]

a) Discuss the origin and development of commercial fertilizers under Indian Conditions.

b) Explain the advantages and disadvantages of fertilizers.

c) Describe the ammonia synthesis catalyst used in fertilizer Industry.

Q2) Answer any two parts of the following. [2×5=10]

a) Describe the manufacturing process of Ammonium sulphate and explain its characteristics.

b) Explain  the manufacturing process of naptha fuel oil.

c) Discuss the production method of calcium-ammonium nitrate with the help of a flowchart.

Q3) Answer any two parts of the following: [2×5=10]

a) Explain the operation problems of the Urea-plant.

b) Discuss the manufacturing process of super phosphates by any one method.

c) Discuss the feed stock for production of associated gas.

Q4) Answer any two parts of the following: [2×5=10]

a) Describe the manufacturing process of potassium sulphate with the help of a flowchart.

b) Explain the materials used in manufaturing of Mixed fertilizer.

c) Discuss the manufacture of any one grade of Nitrogen phosphorus and potassium (NPK) fertilizer.

Q5) Write short notes on any two of the following : [2×5=10]

a) Introduction to bio-fertilizer.

b) Characteristics and specification of Urea fertilizer.

c) Ammonia natural gas.

d) Differences between bio fertilizers and conventional fertilizers.

Time : 2:30 Hours] [Maximum Marks : 50
NOTES :

i) Attempt all questions. All questions carry equal marks.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : i) g^r àíZm| Ho$ CÎma Xr{O`o& g^r àíZm| Ho$ A§H$ g‘mZ h¡&

ii) narjm{W©`m§o H$mo gbmh Xr OmVr h¡ {H$ do àíZ-nÌ Ho$ XmoZm§o AZwdmXmo§ _| gm§»`H$s` Am±H$‹S>m§o H$m {deof ê$n go {_bmZ H$a b§o& `{X {hÝXr AZwdmX Ho$
{H$gr àíZ _| {H$gr àH$ma H$s {^ÞVm h¡, Vmo narjmWu A§J«oOr AZwdmX Ho$ AZwgma àíZ H$m CÎma X§o&

iii) narjm{W©`m| Ûmam noµOa Am¡a _mo~mBb \$moZ H$m à`moJ AZw_Ý` Zht h¡&

à.à.à.à.à.1) {ZåZ ‘| go {H$Ýht Xmo ^mJmo§ H$m CÎma Xr{OE : [2×5=10]

A) dm{UpÁ¶H$ Cd©aH$m| H$s CËn{Îm VWm {dH$mg H$s {ddoMZm ^maVr¶ n[apñW¶m| Ho$ AmYma na H$s{OE&

~) Cd©aH$m| Ho$ bm^ VWm hm{Z¶m± H$s ì¶m»¶m H$s{OE&

g) Cd©aH$ CÚmoJ ‘| Cn¶moJ hmoZo dmbo A‘mo{Z¶m H¥${Ì‘ CËàoaH$ H$s {ddoMZm H$s{OE&

à.à.à.à.à.2) {ZåZ ‘| go {H$Ýhr Xmo ^mJm| H$m CÎma Xr{OE : [2×5=10]

A) A‘mo{Z¶‘ gë’o$Q> ~ZmZo H$s à{H«$¶m H$m dU©Z H$s{OE VWm BgHo$ {deofVmAm| H$s ì¶m»¶m H$s{OE&

~) ZoâWm BªYZ Vob ~ZmZo H$s à{H«$¶m H$s ì¶m»¶m H$s{OE&

g) EH$ àdmh AmaoI H$s ghm¶Vm H¡$b{e¶‘-A‘mo{Z¶‘ ZmBQ´>oQ> ~ZmZo H$s {d{Y H$s {ddoMZm H$s{OE&

à.à.à.à.à.3) {ZåZ ‘| go {H$Ýhr Xmo ^mJm| H$m CÎma Xr{OE : [2×5=10]

A) ¶y[a¶m g§¶§Ì ‘| n[aMmbZ gå~ÝYr g‘ñ¶mAm| H$s ì¶m»¶m H$s{OE&

~) {H$gr EH$ {d{Y go gwna ’$moñ’o$Q> ~ZmZo H$s à{H«$¶m H$s {ddoMZm H$s{OE&

g) Egmo{gEQ>o‹S> J¡g Ho$ CËnmXZ Ho$ {bE ’$sS> (ñQ>m°H$) H$s {ddoMZm H$s{OE&

à.à.à.à.à.4) {ZåZ ‘| go {H$Ýhr Xmo ^mJm| H$m CÎma Xr{OE : [2×5=10]

A) EH$ àdmh AmaoI H$s ghm¶Vm go nmoQ>o{e¶‘ gë’o$Q> ~ZmZo H$s à{H«$¶m H$m dU©Z H$s{OE&

~) {‘{lV Cd©aH$m| Ho$ ~ZmZo ‘| Cn¶moJ hmoZo nXmWm} H$s ì¶m»¶m H$s{OE&

g) {H$gr EH$ J«oS> Ho$ ZmBQ´>moOZ-’$m°ñ’$moag nmoQ>o{e¶‘ (NPK) Cd©aH$ Ho$ ~ZmZo H$s {ddoMZm H$s{OE&

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýhr Xmo na g§{já {Q>ßnUr {b{IE : [2×5=10]

A) ~m¶mo-Cd©aH$m| H$s ^y{‘H$m

~) ¶y[a¶m-Cd©aH$ H$s {deofVmE± VWm ñno{g{’$Ho$eZ&

g) A‘mo{Z¶m àmH¥${VH$ J¡g&

X) ~m¶mo Cd©aH$m| VWm nma§nm[aH$ Cd©aH$m| ‘| AÝVa&

… … …


